
RoomMe 
Tre pr. køjeseng / Three per bunk bed
Samlevejledning / 
Assembly instruction

www.hojermobler.dk/



www.hojermobler.dk/ 2 of 10 RoomMe

Samlevejledning / 
Assembly instruction

Stykliste /
Parts list

A

B

C

D

M5x12   x16

M6x35  x4

M6   x4

M8x45   x24

E M5x12   x8

Prop x1 /
Square plug x1

Sengeramme x3 /
Bed frame x3
Sengebund x9 /
Bed base x9

Trin x2 /
Step x2

Gavl 610 mm x2 /
Headboard 610 mm x2

Gavl 1260 mm x2 /
Headboard 1260 mm x2

Gavl 1040 mm x1 /
Headboard 1040 mm x1

Gavl 390 mm x1 /
Headboard 390 mm x1

Side gavl x4/
Side board x4

Støtteben x2 /
Support leg x2

DA: Dele til samling af køjesengen kan ses nedenfor. Der er behov for at anvende en skruetrækker. For demonte-
ring start fra enden.  

EN: Parts for the assembly of the bunk bed can be seen below. Additionally, there is a need to use a screwdriver. 
For disassembly start from the end. 

F x1

G x4



www.hojermobler.dk/ 3 of 10 RoomMe

Samlevejledning / 
Assembly instruction

Samlevejledning /
Assembly instructions

Step 1:
DA: Sengebunden ligges ovenpå sengerammen og fastgøres med 8 spånkruer M5x16.

EN: Then the bed base are attached to bed frame. Use 8 screws M5x16.

Step 2:

                                                                                                                                 

A

B

DA: Fastgør gavl 1260 mm og gavl 610 mm til sengeramme. Brug de første huller fra bunden. 

EN: Attach headboard 1260 mm and headboard 610 mm to the bed frame. Use the first holes from the bottom.



www.hojermobler.dk/ 4 of 10 RoomMe

Samlevejledning / 
Assembly instruction

Step 3:

Step 4:

DA: Side gavlen monteres til gavl 1260 mm gennem hul nr 10 talt fra bunden. Ligeledes fastmonteres side gavlen 
til sengerammen via hul nr. 2. 

EN: The side board is fastened to headboard 1260 mm though hole no. 10 counted from the bottom. Furthermore, 
the side board is fastened to the bed frame through hole no. 2. 

B

DA: Efter montering af sidegavlen, kan sengen ippes om på siden og de to støtteben monteres lige under sidegav-
len. Det er ikke muligt at montere disse før sidegavlene. 

EN: After mounting side board, the bed can be tilted on the side and the two support legs are mounted just below 
side board.  It is not possible to mout the support legs before the side board. 

C

D



www.hojermobler.dk/ 5 of 10 RoomMe

Samlevejledning / 
Assembly instruction

Step 5:
DA: Monter trinene på sidegavlen. Her anvendes hul nr. 3, 4, 5 og 6.

EN: Mount the steps on the side board. Use hole no. 3, 4, 5 and 6. 

Step 6:
DA: Saml den anden nederste seng. Monter gavl 1260 mm og gavl 610 mm til sengerammen. Benyt hul nr. 1 på 
front og siden af gavlene.

EN: Assemble the second lower bed. Attach headboard 1260 mm and headboard 610 mm to the bedframe. Use 
hole no. 1 on the front and side of the headboards.

B



www.hojermobler.dk/ 6 of 10 RoomMe

Samlevejledning / 
Assembly instruction

Step 7:
DA: Monter sidegavlen på gavl 1260 mm og sengerammen. Der skal benyttes hul nr. 10 på gavl 1260 mm og hul 
nr. 2 på sengerammen. 
 
EN: Attach side board to headboard 1260 mm and the bed frame. Use hole no. 10 on the headboard 1260 mm, 
and hole no. 2 on the bed frame. 

Step 8:
DA: Inden du placer sengen, skal du være opmærksom på om du skal have samme opstilling. 

EN: Before placing the bed, be sure if you shall have the same set up. 

B



www.hojermobler.dk/ 7 of 10 RoomMe

Samlevejledning / 
Assembly instruction

Step 9:
DA: På undersiden af sengen skal der monteres 2 plade beslag. Disse skrues fast på undersiden, således de fastgø-
re de to senge til hinanden. Disse placeres som vist på illustrationen. 

EN: Two plate brackets must be mounted on the underside of the bed. These screwed to the underside, so they 
secure the two beds together. The plate brackets are placed as shown on the illustration. 

Step 10:
DA: Placer sengerammen på de to senge. Sangerammen skal flugte med sidehavlen som vis på illustrationen.

EN: Place the bed frame on the two beds. The bed frame should align with the side board, as shown in the illustra-
tion. 

E

F



www.hojermobler.dk/ 8 of 10 RoomMe

Samlevejledning / 
Assembly instruction

Step 11:
DA: For at fastgøre øverste sengeramme til de to senge, skal der monteres 4 beslag. Disse monteres med selvskæ-
rende skruer i sidegavlen og gavl 1260 mm. Placering af beslagene kan ses på illustrationen. Bemærk dette efter-
lader permanente huller i stellet. 

EN: To attach the bed frame to the two beds, 4 brackets must bed used. These must be fitted with self-tapping 
screws in the side board and headboard 1260 mm. For the placement se the illustration below. Please note this 
leaves permanent holes in the frame. 

Step 12:

E

DA: Derefter monteres gavl 1040 mm og gavl 390 mm fast på sengerammen. Der skal benyttes hul nr. 1 på begge 
gavle, på front of siden af gavlene. 

EN: The headboard 1040 mm and headboard 390 mm are fixed to the bed frame. Hole no. 1 musted be used on 
both headboards, on the front and side og the headboards

B

G



www.hojermobler.dk/ 9 of 10 RoomMe

Samlevejledning / 
Assembly instruction

Step 13:
DA: Sidegavlen monteres på gavl 1040 mm. Benyt hul nr. 6 i gavlen og hul nr. 2 i sengerammen.

EN: The side board is mounted on the headboard 1040 mm. Use hole no. 6 in the headboard and hole no. 2 in the 
bed frame. 

Step 14:
DA: På sidegavlen isættes propen for at lukke for hullet. 

EN: The plug is inserted in the side board in order to close the hole. 

B



www.hojermobler.dk/ 10 of 10 RoomMe

Samlevejledning / 
Assembly instruction

Step 15:
DA: Sengen er nu klar til montering af valgte afskærmninger. Se vejledning “ Montering af afskærmning” for
montering af disse. Det anbefales at fastgøre sengen til væggen inden brug.

EN: The bed is now ready for mounting on selected guards. See guide “ mounting the guards” for mounting these. 
It is recommended to attach the bed to the wall before use.


